MATH 1030-004, Exam 1 Spring 2014

Name: - 651 UTION
SHOW YOUR WOREK!

1. {16 pts) In a recont survey people were asked if they took a vacation in the Summer, Winter,
or Fall in the past year. The results were the following: T3 took a vacation in the Summer, 51
took o vacation im the Winter, 27 took a vacation in the Fall, and 2 had taken no vacation. Also,
10 had taken vacations at all three times, 13 had taken both a Summer and a Winter vacation,
but mot the Fall, 18 had taken only a 'Winter vacation, and 5 had taken both a Summer and
Fall but not a Winter vacation.

Using 8 for Summer, W for Winter, and F for Fall, construct a 3-sst Venn diagram, and answer
the following questions.

{2} How many people had been surveyed? o
13+ 2+ 0+ 10+(2= {05

(b} How many people had taken Summer vacation onky?

23— (13+10+5) = 45

(e} How many people had taken Fall vacation only?

2F-(5+10+10)=2
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2 {12 pts) John earns 1500 more than Sam. How many times larper is John's income than
Bam's?

(150+tfo0) 5 =2507% = 2. 5

3. (12 pts) How much money will you have in 30 years if you invest 310,000 now at an APR of
4. THE,, assuming

{a} that you earn simple interest.
A= $1qooo+ 0.0475 ${9000-30=% 74,250

(b} interest is compounded quarterhy.

A= 310000 (12242 )% g4 2.3 6

(c) What i=s the APY, if we assume the interest i compounded quarterly?

APX (HOO‘*K) — 04GR =14 Oy

d. {12 pits) If you sleep an average of T hours per day, hbow many hours do you spend sleeping in
5 years? How many weeks is this?

3@54’5%\ < 3
o i Syed < {IF15 br
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5. (12 pts) The average cost of a house in Salt Lake City increased from £176,000 in 2010 to
2201 500 in 3014 Find the ahsolute and relative chanpe. (Express the relative change in %)

ahslod= C%”Zfe’ - F201 Coo—$176,000= L7 Cod.

,%ZS’,é/oo _
. S=14. 5%
r zu’;féw C/mzfc £176 000 O.(4

6. {12 pts) You want to build a $70, (00 college fund in 16 years by making regular, weekly de-
posits. Assuming an AP R of 4%, and sssuming weekly compoundings, caleulate how much you
should deposit every week. (1 year = 52 weaks_ )

216

(//_,L Q.04 ~ /
(%)
§7.10" PHT - {(64. 82

17 /0"
P/V// 7 /c,éfxl %60, /0.

$3-10"= PMT

(b} How muoch of the financial valoe comes from actual deposits, and how much from interest?

Tode! deppsia = $00 1052 16= 250 002 20

/n infrest = $Wow-$5@@o}_la:$/qgﬂe. %
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T. (12 pts) If the natural gas costs 0.70 British Pounds per liter, how much does it cost i dollars
per pallon? (1 gallon = § quarie, 1 hter = 1057 guarta, 1 Britiah Pound = 8165 )

0 vy (Jhes _ ¢437
17;27%/053;7//’ [ éﬁ/

3. ({12 pts) There are approximately 135 million births worldwide in a year. Express this quantity
in hirths per second.

/35%0-/;;4 N ST

(pv‘&

4. 18 5
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